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Intro

Today we will 7”va learn v 97 of mmaw noon

Some of the topics we will learn about include.

Several questions regarding the *yomn nwn no5n of
ARINNW 792 Y

One who became x»v inside the 771y and then waited the
amount of time it takes for one to bow down, is 752270
T

Does the 1257 of 7w apply to the following

1.

7Y IR IMIY 75N

One who was suspended in the airspace of the 771 but did
not touch the ground.

2.

mponb

One who waited inside 71»1 less than the 77w Myw

3,

THI2INDRY RO

mphnb

One who deliberately became 8»v inside the 77tv and he
waited 711 less than the 77w Myw

4.

PPN

A Nazir, who may not become nm» Xnv, was brought into a
cemetery in a closed box, and then someone opened the
box, and he became ©1R2 XL from a 72p and he waited
71 less than the niw w.

The Halachah of

270 IRIH R

MO IR

If one did not bow down, and he did not wait, it depends if
he took a longer route to go outside the 77y, he is 2m, but
if he took the shortest route he is 1vo.

The question regarding

1 TI%P MW AD1IRD N3

If a person walked quickly on a longer route, and it took
the same amount of time as the shortest route, do we say
kaie) iR

The *»on nwnb 1257 was given in terms of TIME.
Therefore, since the long route took him the same amount
of time as the shortest route, he is Mwo.

OR

MPARPYT

OO TIZP 2N IR

The *»on nwnb 1257 was given in terms of DISTANCE.
Therefore, for the longer distance, he is 2.

And the application of this question to the Halachah of
RNV VDWW ROV

If a Kohen performed the 7712y while he was x»v, he gets
PV T,

Which implies however that he is W9 for 77rva nxmw
alone, because otherwise he would get n1o.

A7aY IR

N7 ATV
To speed up an 772y, is considered an n712Y;
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The ypn nwp n2dn of

ARINNWNA Y72 NNWY

NITY IR XY NON

mpons

TN INRY RNMN
mpons

9272 %)

2N NN P XA
MLD NP2

OINA Y XA
N NIRP MW

RNT - W
tati»b SIS U

NARNIV2 WNVW RNV

NT2Y 2P
NN NTIY
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So, let's review ...

The previous Mishnah taught the Halachah of

271 7MY RPO)

If one was already inside the 7771» and then became x>V, he
becomes liable for a 79 1% 1277 if he does one of the
following »mwa:

mnnwn

He bowed down, even quickly

OR

IRINNWH 701 7w

He waited inside the amount of time that it takes for one to
bow;

OR

7oIR1 PN

He did not bow down, and he did not wait, but he took a
longer route out of the 771Y;

As Rashi explains;

ATYN PN RDOVIV 1O PIYY

o °yon nwnb Mbn

These three pm'w are derived through *yon nwnb nabn for
one who became X»v inside the 77y.

The Gemara proceeds with several questions regarding
the *yon nwn 1357 of

IRINNWA 701 77w

1.

N13°V2

7Y IR IOIY 7O

nn

If one was suspended in the airspace of the 777v but did not
touch the ground, and there was a 71w, is he 27m?

Perhaps

I I

PIRINDWA NAT 7hw

ARINNWA N1IRYT

"3 RS

The »on nwrd 7250 that a 77w without ARIMNWA is 27N
applies only to one who CAN bow to the ground, but does
not apply to one who is suspended and cannot bow down
to the ground;

And therefore, he is 0o because there was no actual
IRINNWT;

OR

P D191

ANITNWR N7 W

ARINDWA N1IRDT W

The *»on nwnd 1951 of 77w without nxinnwn applies to
all forms of 771Y2 IRMIV;

And therefore, he is 2’1 because there was a 7»nw.
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From the previouy Wishnaty. ..
277 NITY2 RPNV

If one was already inside the na1v and then became Npv,
he becomes liable for a T nbw 123
if he does one of the following 2aw2:

1Y X2 752 NNVYY  MNNWN
NoIR2 NRINDWYN He bowed

Hedidnotbowor  Hewaited inside the down,
wait, but he took a amount of time even quickly
longer route out that it takes
of themr. for one to bow.

A Bashis W&my
OOV N3 HHVLIE N3 VD PNDE
DO MDY DEND DD
These three oyl are derived férou?/y  Jrop Ve
/ar one who became il inside the »sy.

Several questions regarding the)»pn nwN Ndbn of
NNINHWN T2 NNY

1z

AP YP
NITY IR NRY NON
NN

If one was suspended in the airspace of the M1
but did not touch the ground, and there was a nmnw,
is hean?

YDA NN DD N PP D
ANIDNWN NIT W75 DNINHWN DT Nhw
DI INRDT w"H DNINHWN N2 INDT
DNINOYN S DI ND

The >pp hwnd nddn of mhw The»yp» nwnd nd5n
without nninnwn applies that a nnw without nNINHWA is
to all forms of mtva ANDI; 2 applies only to one who
And therefore, heis 2»n CAN bow to the ground,
because there was a n"nhw. but does not apply to one who
is suspended and cannot bow
down to the ground;
Heis o because there was
no actual NNINHWAN.
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2.

N173°v1

mpnb rnw 73

MRS Y I8 PRIR

If one became x»v inside the 77tv and he waited inside
7111 for less than the 77w Wy w, does he get mpm»?
Perhaps

0 T 1295

IO AR PHND

The *yon mwn’ nobn that a 7 nw is required applies only
for a j29p but for mpbn a nnw is not required, and
therefore, he is 27n?

OR mnw 1m0

1295 RIw RS

mpbnb RIw R

The *»on nwnb 7257 of 77w applies to all forms of irmIL
771p3, and even for mpbn a 7nw is required, and he is
NVoH?

3,

And if we are to assume that

mpbnb rnw 73

Then

D TN MY ROV

If one deliberately became R»v inside the 777p and he
waited inside 71»1 less than the 7w M»°w, does he get
mphn?

Perhaps

700 ) OIIR]

I PP RY TN

The *»on nwnb 750 of 77nw applies only to a kML that
was by accident, but regarding a nxm»v that was on
purpose, a 77w is not required, and he is 2°1?

OR

W YRI D191

7MW’ ONRI V"D

The *»on nwnd 7257 of nw applies to all forms of nrmIL
771v3, and even regarding 7w IRV a 7170w is required,
and he is Mvo?

4,

YUNR2IV]

Tapa T

TIRIWRIR MPOY 7w w3

If a Nazir who may not become ni Xi>v was brought
inside a cemetery in a closed box, and then someone
opened the box and he became o182 XY from a 72 and

he waited 72 less than the 777w MW, does he get mpHn?

Perhaps

AW PO 002

I YIRS PINa

The *»on nwnb 1257 of nw applies only to the 77y,
where one can perform nNXinnw, but a 777w is not
required regarding 312 7°13 where one cannot perform
nxinnwn, and he is 2717

OR

W PO OINA

PIN2 W' 0192 RIW RS

The yon nwnb nobn of 7nw applies only to all forms of
Rmw that were by accident, and therefore even regarding
72pa v a v is required, and he is 1wo?
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2

£P) YP
mpoYnNs NPnw PIv
mpHYNh NPNW PIX PRI

If one became Nov inside the "1y and he waited inside T2
for less than the mmaw mw, does he get mpbn?

YN YYD DD
J27p5 Now R

MW YD1 12D
mpdnd

mpdpd Row R L5 pmpw a kD

The >pn hwnd nddn of mpw
applies to all forms of nNDD
M2, and even for mpbn
amnp is required,
and he is mwo?

The»>pn nwpb ndbn that a
i is required applies only
for a)avp but for mpbn ammnw

is not required,
and therefore, he is n?

3

/fn/z%w&ar@ to assume that
mpoYns NPnw P
Then

10D TN MRY RNMO
If one deliberately became v inside the mr
and he waited inside T2 less than the nmnw M,
does he get mpbn?

nmnw ™MpNJa DO
DJIN2 W”D
TIP2 V"H

The»»pn nwnd nd5n of mnw

applies to all forms of nNDID

M3, and even regarding
TTP2 NRVIL a MDY s required,
and he is mo?

NN "N DIINI
"I RD TH2
mnw

The »pn nwnb nddn of mnw
applies only to annow that
was by accident,
but regarding a nnow that
was on purpose, a nmnw is not
required, and he is 2:n?

4

G 22 Yp
922 1N
°IR 1R IR MPONY NPNWY Y2

If a Nazir who may not become N0 R
was brought inside a cemetery in a closed box,
and then someone opened the box and he became p2R2 NpD
fromanap and he waited 102 less than the nmnw nw,
does he get mpbn?

NN NI DIINI
D292 RIW Nb
yin2 v~

The »pn hwnd nddn of mpw
applies only to all forms of
nNpw that were by accident,
and therefore
even regarding2p2yn a
Y is required,
and he is Wwo?

AW YD D1IDI
"I NS yIn2
MmN

The »pn nwnb Ndbn of mhw
applies only to the mv, where
one can perform nRinnwn,
but amnw is not required
regarding 12p2 12 where one
cannot perform nRmnwn,
and he is 27n?

Shevuos 17-3



IR a)i=la]

The Gemara now elaborates on

271 9IRIH R

MNOVO B

If he took a longer route out of the 771y, he is liable for a
T AW 1297

If he took the shortest route out of the 771, he is not liable.

R17 says

571 782 3PP 120K IR 7I%p

1910771 53 159°0R)

If one took the shortest route to go out of the 77y he is not
liable, even if he walked very slowly and it took him the
entire day.

N19°Y]

190XV N N

If one took the shortest route, but he paused in between
steps, do these short nyiw combine to form a complete
INIMNWR T Nw?

However, there is no question regarding

ST 781 pY

D2 0717931°0R

Because

77w R>71 000

There he walked continuously without pausing, but it took
all day.

139D PN PPN RY2

N TIRP NV A01IRD PR

What is the Halachah if a person walked very quickly on a
longer route, and it took the same amount of time as the
shortest route?

Perhaps

VRNV

MNOD TP NV IR O R

The *»on nwnb 7257 was given in terms of TIME,
Therefore, since the long route took him the same amount
of time as the shortest route, he is mvo.

OR

VDI RDT

MNOO 7P 271 191N

The »»ow nwnb 13571 was given in terms of DISTANCE.
Therefore, for the longer distance, he is 2°n.
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277 NMIR2 1Y X2
MOVD NP2

£P)
9712 TN2 2PY 197DR 1IMMRWY NIRP
1910 01N 93 197DN)

If one took the shortest route to go out of the M
heis not liable, even if he walked very slowly
and it took him the entire day.

P4

£PI YR
1DIVXRYW 1N MPNY

If one took the shortest route,
but he paused in between steps, do these short nrnw
combine to form a complete DRINAWN 172 MY ?

v
However, there is no question regarding

51a T¥a 2pY
1515 prn bo )!""DN

NN N5T2 pnn

There he walked continuously without pausing,
but it took all day.

Py

L)

DWW P DYN £YP

NN NIRP NPV NN I X2

What is the Halachah if a person walked very quickly
on a longer route, and it took the same amount of time
as the shortest route?

DI RIT PP NDW
2N NONN2 NONN2 15 N2 D)
DD MINP2 NLD MXP NVW

The by nwnb Nobn was The »pn nwnd Nobn
given in terms of DISTANCE.  was given in terms of TIME.
Therefore, for the longer ~ Therefore, since the long route
distance, he is 2n. took him the same amount of
time as the shortest route
he is Wo.
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And the Gemara also applies this question to the
Halachah of

NI WYV ROV

If a Kohen performed the 7112 while he was x»v, he gets
DPYOTIANID.

This implies that for 771v2 xR alone he is 19, because
otherwise he would get n7>.

If we are to say

YOIV

We go by the distance;

> nnown

1T71AY TV 7IXP1 WOl DIRT

This Halachah would be possible if one went out quickly
on the shortest route and he performed the 172y as he
went out. Therefore, he is 2711 only for ixmv1 WHW but
not for n71va XMV, because since the 777w of 72 can be
included in the 1w of 71737, there was no nw.

However, if we are to say

PRI RDIT

We go by actual distance;

15 nMown RN

How can he be exempt from 173 for 77tva nrmiw?

In this case, he is N2 271 for 7772 NRML because since the
77w of nTaY cannot be included in the actual 1>'1 of
173, this was a 7nw?

However, the Gemara answers that

N2 WIVW RV

RNPI IO 7P RIW 1133 75 INOWH

This Halachah could be possible if on his way out 7772
173p, without stopping, he turned over a piece of meat that
was on the n2m» with a fork to make it burn quicker; and
7Y P

N7 T2V

To speed up an 72y, is considered an 7ay.

Therefore, he is 21 only for xmwv1 Wi»w but not for
7MY IRMY, because there was no 1°w.
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NNM2 WNNVWYW RNV
If a Kohen performed the nTap while he was N,
he gets Dpw Y2 DD,
This implies that for mTva RO alone he is MWy,
because otherwise he would get »>.

Hwearety
PRI MY
We 40 éy/ the distance;;

N5 nnown

NTIAD TAD) NINPI MWDI DINT

Therefore, he is 20 only for nRDI2 WY
but not for M2 NI,
because since the mmnw of nTav can be included
in the Mw of Mxp, there was no nmw.

P4

However, i) we are ty
MM RNT
Wa;a éyxﬁdmﬂ distance;
nb nnown RN

How can he be exempt from »> for nrva aNpw?
In this case, he is M2 a0 for MY INHLIL
because since the mnw of nTay cannot be included
in the actual > of mxy, this was a nmhw?

v

NN WDIWY RHD
N5 nnown
N12N2 79 NI RIW 1aD

This Halachah could be possible if on his way out mxp 1712,
without stopping, he turned over a piece of meat that was
on the nam with a fork to make it burn quicker; and

NT1AD 217
N NTIAD

but not for mTva NNMID, because there was no mnw.
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The Gemara concludes with the following Halachah:
PIIMR 7T YO 1725 0120

MO PIN I 170K

NI

If a person walked backward into a house that was xnv
V313, even if most of his body was inside and only his nose
remained outside, he does not become XY because the
Pasuk states

IR R

770 7IOR AR 77
Only one who enters in the normal way becomes xXnv.

However

bib)

RO

Ifhis body was completely inside, he does become Ri>v
because he is no different than a utensil that was already
inside that becomes Rnv even without X3, as the Pasuk
states

7322 JWR 53 RV R

And the same Halachah applies to w7pn nRmw in a case of
52115 Pax 777 DINW ROV

Nvo

If a Xnv person entered the 5>1 through the roof;, he is
M09, because the Pasuk states

Ran RS WIPHIT ORI

AN 7IOR AR 77
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PINR 77 YININN N2 01N
MLVIND PIN 1913 197DX)
MY

If a person walked backward
into a house that was 322 NDD,
even if most of his body was inside
and only his nose remained outside
he does not become Rpp

because the Pasuk states
e BN NI
DN DIoE DR PI7

OM/Z?/ one who enters in the normal way becomey gl

RNV - PP

If his body was completely inside, he does become Npv
because he is no different than a utensil that was
already inside that becomes Npp even without NN,

abs the Pasuke states
e =R oo Nty N

93715 1723 777 DIDIVW RNV
MOVD

If a Nov person entered the 5> through the roof, he is s,
because the Pusuk states
NI N'D e

DI DIoE DER P17
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